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1. Find the number of tems in the following expressions.

3zy  (ii)da® — o (44i)5a® +y — 2

° Watch Video Solution

2.Name the followigng algebraic expressions with respect to the number

of terms.

(I2z*y — Tz +6  (IN3zy—5 (III) — 8



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1n3YR5sDfz1A
https://dl.doubtnut.com/l/_7kpWIttN7B4P

I & Watch Video Solution

3. Write the following expressioons in the exponential forms.
(D2X5XTXxXTXTXYXY
IXIXxIXI XzXTXTXTXTXYXY

(M2Xx3IXdXTXYXTXYXTXYxy

° Watch Video Solution

4.let A = 3z? — Tey+ 6 and B = Tey — 52> + 15
Find.

WA+B (I)2A+B

° Watch Video Solution

5.let A = 3z? — Txy+ 6 and B = Tzy — 52> + 15
Find.

WA—B  (II)3A—2B


https://dl.doubtnut.com/l/_7kpWIttN7B4P
https://dl.doubtnut.com/l/_QMXqIhVrcWtD
https://dl.doubtnut.com/l/_aSZ0KFBIoMsE
https://dl.doubtnut.com/l/_pco04ZMucrfv

° Watch Video Solution

6.Simplify: 8m — [3m — {3m — {2m + 3 — 2(4m — 4)}]

° Watch Video Solution

7. Multiply (2:32 —4x + 6y) by 3xy

° Watch Video Solution

8.Simplify 5(2z — 3) — (3 — 2z) + 2z°

° Watch Video Solution

9. Find the product of polynomial (x+2) and (2x+3)

° Watch Video Solution



https://dl.doubtnut.com/l/_pco04ZMucrfv
https://dl.doubtnut.com/l/_0DIsNXGoV1U7
https://dl.doubtnut.com/l/_o0KXbtTloedD
https://dl.doubtnut.com/l/_YtZwjSAiZZoR
https://dl.doubtnut.com/l/_bHr25DF3fJHk
https://dl.doubtnut.com/l/_MG1L7aux54F7

10. Divide 16z® + 12x2 4 62 by 4x

° Watch Video Solution

11. Solve for x: 5x-6=9

Answer: A

o Watch Video Solution

Zosolveforz: X+ % o1 % 6
.Oveorm.2 3—513 6

o Watch Video Solution



https://dl.doubtnut.com/l/_MG1L7aux54F7
https://dl.doubtnut.com/l/_KokG6WXEITeA
https://dl.doubtnut.com/l/_bcpWgenmi5Eu

13. The sum of two consecutie odd numbers is 164. Find the numbers

° Watch Video Solution

1
14. The present age of a perosn is 3 of the present ae of his father. If the

sum of their aes is 60 years, then find the age of the son

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions

1. A quanity which has no fixed value is called a/an

° Watch Video Solution

2. A quantity which has a fixed numerical value is called a/an

| nu..,;,l,\'!,l,, o~ _1_ _an°* _


https://dl.doubtnut.com/l/_bcpWgenmi5Eu
https://dl.doubtnut.com/l/_OY7NeTICKVQN
https://dl.doubtnut.com/l/_EcdiqxyVIkDx
https://dl.doubtnut.com/l/_woueiJVM8VOD
https://dl.doubtnut.com/l/_A13oYuDo0NVp
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3. A combination of constants and variables connected by one of more

fundamental operating sings is a/an

A. algebraic expression

B. Equation

C. Variable

D. None of these

Answer: A

o Watch Video Solution

4.The exponets of the varibles of a polynomial must be integers.

o Watch Video Solution



https://dl.doubtnut.com/l/_A13oYuDo0NVp
https://dl.doubtnut.com/l/_VzBxNAtTsTY6
https://dl.doubtnut.com/l/_TFlAGi8gg3eu

5.The terms having same literal coefficients are called

o Watch Video Solution

6. Which of the following is a polynomial?

A3 2—0
3z — o =

B.z? — /3=10
Cyz+5=0

D.z +z°/2=0

Answer: B

° View Text Solution

7. The degerr of the polynomial 822 — 7z® + 62° — 1522 is

° Watch Video Solution



https://dl.doubtnut.com/l/_QB79jHGcDBU3
https://dl.doubtnut.com/l/_0EB4pmk3hFv9
https://dl.doubtnut.com/l/_dTCmvKjKMCh0

8. Which of the following is a trinomial ?

A. xyz
B.2> —xzy =3
C.z?

D. None of these

Answer: D

o View Text Solution

9. The numefical coefficient of 225y is

A5
B.6
C.8

D.2


https://dl.doubtnut.com/l/_dTCmvKjKMCh0
https://dl.doubtnut.com/l/_oileYFlDSJLE
https://dl.doubtnut.com/l/_1ojwyG4T0jnq

Answer: D

° Watch Video Solution

10. The number of second degree terms in the expression

2z — 3z’y + bx? — 6y® + 8xy — 4x’y’is

A3
B.2
C.1

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1ojwyG4T0jnq
https://dl.doubtnut.com/l/_Dve2yXCyi31z

11. Match the following Column A to Column B

o 9x3+7x2+ 0 o 2 BT VRTIN
6x +5

b) %xz -2 () (Q

3
) 85-9x6+4 () () 4
@ 52-8x+3 () () 5

| ® 6

° Watch Video Solution

w
w
[N

13,222 - 2 Z2-
O R L -

° Watch Video Solution



https://dl.doubtnut.com/l/_6t1fYAXGAi5h
https://dl.doubtnut.com/l/_9Kj305aodw8O
https://dl.doubtnut.com/l/_UanPOwZw6UI5

° Watch Video Solution

16. 2zy — 6z _
2 T

° Watch Video Solution

17 —2 + 3z + —1
.= T x
3 3 e e e e e e


https://dl.doubtnut.com/l/_UanPOwZw6UI5
https://dl.doubtnut.com/l/_dc3c0lxBD738
https://dl.doubtnut.com/l/_O4Kl9bP3WcZz
https://dl.doubtnut.com/l/_Atjxtba9Gp3I
https://dl.doubtnut.com/l/_ZjeGbZkfukKm

Answer: A

o Watch Video Solution

B. 2x

C.2

D.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZjeGbZkfukKm
https://dl.doubtnut.com/l/_qhSWfwJE7Wcf

19. 2x(3-2x)=

A 6x — 4z>

B. 6x — 22>

C. 3-4x

D.3 — 4z

Answer: A

° Watch Video Solution

20. 422 — 8z + 10

A2z —4x +5

B.2x% — 8z + 10

C.2z%2 — 4z + 10

D.2z2 — 8z +5


https://dl.doubtnut.com/l/_DIXxHDAVTyfY
https://dl.doubtnut.com/l/_pPKOzwVC8Rb0

Answer: A

o Watch Video Solution

A 222 — 3
B.2z2 — 1
C. 2x-1
D.2z2 — 2
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pPKOzwVC8Rb0
https://dl.doubtnut.com/l/_EBg0WYi5AU1W

22. Match the following Column A to Column B

(b) 335 Gx-2 ()

© %’f(sx-—z) 0

(d) .25‘.. 2x-3) ()

o Watch Video Solution

23. If x+5=8, then x=



https://dl.doubtnut.com/l/_oMVrYDsvQVbh
https://dl.doubtnut.com/l/_TfLSDZ7YxbLO

Answer: B

o Watch Video Solution

1 3
24.If;:c—|—— = 1then x=

4 -

o Watch Video Solution

3x Tx
25.If = + - = 2, then x=

o Watch Video Solution

26. If 2x-5=7, then x=

o Watch Video Solution

27.If 12+x=18-x, then x=



https://dl.doubtnut.com/l/_TfLSDZ7YxbLO
https://dl.doubtnut.com/l/_wRs69uTenTpJ
https://dl.doubtnut.com/l/_LBrnJ3inD5iu
https://dl.doubtnut.com/l/_6U4eb2E4uerb
https://dl.doubtnut.com/l/_f4514wNCcMSE

A. 15

B.30

C.6

D.3

Answer: D

o Watch Video Solution

28. The highest power of the variable in a linear equation is

A.O

B.1

C.2

D. Can be of any value

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_f4514wNCcMSE
https://dl.doubtnut.com/l/_FSWT4dQk65am

29. The number of value(s) of x, which satisfy 7x+2=8x+2 is

Al

B.O

D.2

Answer: B

o Watch Video Solution

30. The sum of two consecutive natural number is 45. Which of the

following represents the above statements ?

A. (x+1)+(x+2) =45

B. (x)+(x+1)=45

C. (x-1)+x=45


https://dl.doubtnut.com/l/_FSWT4dQk65am
https://dl.doubtnut.com/l/_pWGciHj0bPDO
https://dl.doubtnut.com/l/_qnVWHGzgLeK3

D. All the above

Answer: B

° Watch Video Solution

31. The age of a man is 4 times his son's age and the sum of their aeges is

60 years. Which of the following represents the above statements?

A. x=60-4x

B. 4x-x=60

C. x+4x=60

D. 4x+60=x

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qnVWHGzgLeK3
https://dl.doubtnut.com/l/_JoVv5n1MhOiq

32. Match the following Column A to Column B

@ 2x-7=15 () ® 12
®) 2x-15=9 () (@ 11
(@ 2x+5=23 () ® 9

) 2¢+4=20 () @ 8

° Watch Video Solution

Short Answer Type Questions

1. State which of the following statement is true.

A. The coefficient of x in the expression 4zy? is 4
B. the number of terms in the expression 4xy is 3.
C.z?y® — zyis a binomial

D.3z% — 2z + 2/3 is not a polynomial


https://dl.doubtnut.com/l/_FemjYfkD23nG
https://dl.doubtnut.com/l/_tt1PXyVN3pnH

Answer: C

° View Text Solution

2. List of the like terms in the following expression.
(i) 4z, — 723, 822, 1223, — 92*, — Bz, 4z3, 1222

(i1)bxy, — 32y, 2z9°, — 2x%y?, bz’y, — 3zy, 62°y°

° Watch Video Solution

3. Which of the following algebraic expression are polynomials?
(i)m1/2+y1/2+zl/2 (i) 2% + 32

(i) /2 + 3

VB4 zb

(v) 2016

° Watch Video Solution



https://dl.doubtnut.com/l/_tt1PXyVN3pnH
https://dl.doubtnut.com/l/_ubFe8Z5BGgGk
https://dl.doubtnut.com/l/_PxIqmoxEsO0k

4. Write the degree fo the following polynomials.
()3z° — 72° + 8z — 2z* + 10

(i1)2x° — 322 — 1423 — 152*

° Watch Video Solution

5. Write the numerical coefficients of the followings .

17m2y

Answer: A::B::C



https://dl.doubtnut.com/l/_cDe4JRRmTMpo
https://dl.doubtnut.com/l/_vRPokrnR0lSW

° Watch Video Solution

6. If x =3 and y=1, then find the values of

. £ 22 5 T,
(4)3z — 2y (zz)?w — 5y

° Watch Video Solution

7.1f x=2 and y=3, then find the values of

2z + 3y 22 — T+ 2y
(%)f (4) 2
4 — 3y 292 — Ty + 2z

° Watch Video Solution

8.
A =2z + 3zy + T2%, B = 3z — 2zy — 52° and C = 2zy — 62% — 3.

Find the value of A+B-C.

° Watch Video Solution



https://dl.doubtnut.com/l/_vRPokrnR0lSW
https://dl.doubtnut.com/l/_3VCTM6Iwnjpg
https://dl.doubtnut.com/l/_iGLAF6bKE8Cx
https://dl.doubtnut.com/l/_dN5AZYSkL0FQ
https://dl.doubtnut.com/l/_Q2wUWvzN0UkC

3
9. Find the product of (12x) and <5a: — 5)

o Watch Video Solution

10. Find the product of (2x+3) and (3x-2)

o Watch Video Solution

1. What should be added to 2zy — 32>+ 6 so that the sum is

4z% — Tzy + 15?

o Watch Video Solution

3
12. What should be subtrated from Em — % so that the difference is
7T 3

S ——

2 2

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2wUWvzN0UkC
https://dl.doubtnut.com/l/_dz9RH9zJb9Pa
https://dl.doubtnut.com/l/_k1yZMI8iCgoA
https://dl.doubtnut.com/l/_cGfNElwP1Aun
https://dl.doubtnut.com/l/_uGxiCJiZhsI5

8x2 — 1223 + 6z
2

13. Simplify :

o Watch Video Solution

14.Simplify: 3z — [4z + {2 =6(z — 2 — z) }]

o Watch Video Solution

15. Simplify : 1—25 X %[6332 — 9z(z — 3 — 2z)]

o Watch Video Solution

16. Solve for x : 3x+7=18x

o Watch Video Solution

T 5
17.Solve z: 1- 6x — 1



https://dl.doubtnut.com/l/_uGxiCJiZhsI5
https://dl.doubtnut.com/l/_Z3U0a0gdF9Ei
https://dl.doubtnut.com/l/_MIeHPkQuvs1M
https://dl.doubtnut.com/l/_UPoL5SOHxmjO
https://dl.doubtnut.com/l/_bQGEjSuixFcq

| Y Watch Video Solution J

2z 8
18. Solve for z: 3 +4= §(2ac — 6)

° Watch Video Solution

19. Write the following statemens in symbolic form.
(i) Anumber si doubled and edded to 6, the result is equal to 14
(if) The sum of a number and three fifth of the number is equal to 24.

(iii) Twenty years ago, the age of man was half of his preent age.

° Watch Video Solution

20.The sum of three consecutive natural numbers is 90. Find the greatest

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_bQGEjSuixFcq
https://dl.doubtnut.com/l/_xUM9mwU288KV
https://dl.doubtnut.com/l/_EoeQZoCjNWyL
https://dl.doubtnut.com/l/_ueJ4djt0rwI6
https://dl.doubtnut.com/l/_nGG3ORFLVoVL

21.The length of a reactanle is 5 cm more than its bredth. If the perimeter

of the rectangle is 42, cm , then find the length of the reactangle.

o Watch Video Solution

1
22.The cost of pizza is 25 times the cost of a burger. If the sum of cost of

one burger a and one pizza is Rs. 105, then find the cost of the burger.

o Watch Video Solution

23. Chintu's pocket money is Rs. 120. He saves one third of his

expenditure. Find his savings.

o Watch Video Solution

2
24. Rani has some chocolates with her. If she gives T of the chocolates to

1
her brother and 3 of total chocolates to her sister, then she is left with

20 chocolates. Find the number of chocolates tht Rani had initially.


https://dl.doubtnut.com/l/_nGG3ORFLVoVL
https://dl.doubtnut.com/l/_fhznaDP7BAR2
https://dl.doubtnut.com/l/_jsRlEz9MUGDv
https://dl.doubtnut.com/l/_eiXNlmdQSSPb

A 75

B. 60

C.15

D. None of these

Answer: A

° Watch Video Solution

3
25. Rukku has 1 of the number of flowers that Satya has. The number of

flowers with Rukku and Satya is 35, then find the number of flowers with

Satya.

° Watch Video Solution

Concept Application



https://dl.doubtnut.com/l/_eiXNlmdQSSPb
https://dl.doubtnut.com/l/_LgxpogQ2qeQM

1LIfA=22%-322 -4z +5B=22>-2>+1and C=2>+2+2,
then find the degree of A+2B-C.

A0

B. 1

C.2

D.3

Answer: B

o Watch Video Solution

2.simplify : 3z — [Tz — {5z® — (2z — 3)(4z — 2) — 5} — 2]

A. 9x-9
B. 8x-9
C.7x9

D. 6x-9



https://dl.doubtnut.com/l/_qV6wZFomeMvx
https://dl.doubtnut.com/l/_pbdIHzFEFNPk

Answer: A

° Watch Video Solution

3. A bag consista of Rs.1, Rs.2 and Rs, 6 conns. The sumber of Rs. 2 coins is

equal to twice the number of Rs. 1 cons. The number of Rs. 5 is equal to

thrice the number of Rs. 2 coins . If the total amount in the bad is Rs. 700,

then find the total number of coins in the beg.

A.150

B. 160

C. 280

D. 200

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pbdIHzFEFNPk
https://dl.doubtnut.com/l/_hml6bTiw0fDM

4, Let the ABC be a rectange of  four  sides
AB = (2z + 3y + 10)em, BC = (22 + 3y — 5)em, CD = (4 + 3y + 6)ar
. Find the perimeter of the rectangle

A.30 cm

B.40 m

C.50cm

D. 60 cm

Answer: C

o Watch Video Solution

5. Mohan has some amount, he gave (1/3)rd of the amount to Vijay,
(2/5)th of the gave to Suresh and left with 500 Rs .Represent Mohan

amount as the sum of money he has given to both Vijay and Suresh.

2z

Ax = —
T +5

r
3


https://dl.doubtnut.com/l/_8eiS3aQ3JVgv
https://dl.doubtnut.com/l/_TeMpwU9M8rjh

2z
+ — + 500

Bx—z
3 5

T T
C. 50 = — +2—
T + 3 + 5

D. None of the above

Answer: B

° Watch Video Solution

Assessment Test

1. Name the following algebraic expresions based on the number of

terms.

A. 201822019
B. x+2019
C.2017x

D.v3z + 5 +y


https://dl.doubtnut.com/l/_TeMpwU9M8rjh
https://dl.doubtnut.com/l/_3XdcEKty1xp1

Answer: A::B

° Watch Video Solution

2. Write degree of the following polynomials.
(i) 2017z" + 2018z° + 2019z°
(i) 2%y — 23y + zy® — 233

(iii) 2018

° Watch Video Solution

3. Write the expression for the following statements
(i) 5 times of x is added to 3 times of y

(ii) One and half times of x is subtracted from 3 and half time of y.

o Watch Video Solution



https://dl.doubtnut.com/l/_3XdcEKty1xp1
https://dl.doubtnut.com/l/_ymJwBdV35LXO
https://dl.doubtnut.com/l/_boeEwpQv1Rob

4.If x=5 and y=-2 , then find the value of
8 —2y+ 5 (i4) 5 — 6y — 7
i i
2z + 4ty + 12 3z + 6y + 12

° Watch Video Solution

5. What should be added to 7a:+5—8m2, so that the sum is

15z + 92 — 5?

° Watch Video Solution

6. What should be subtracted from 222 — 3z + 14, that the difference is

522 + Tz — 5?

° Watch Video Solution

7.Simplify 8z — 2[2z — 3(4z + 5 — 2 — z) |

° Watch Video Solution



https://dl.doubtnut.com/l/_KyPtJrjVIgyf
https://dl.doubtnut.com/l/_OK5Pea3XyUeP
https://dl.doubtnut.com/l/_UwN03b0YUiwo
https://dl.doubtnut.com/l/_657pQHiRLvaK

8. Solve for x:2x-15=3x-20

° Watch Video Solution

2 x
9. Solve for x: 3 3 +2z =0

° Watch Video Solution

10. The sumof the predecessor and successor of a numbe is 116. Find the

number.

° Watch Video Solution

1. The sum of the ages of a man and his doughter is 56 years. If the

1
daughter's age is 3 of his father's age, of the daughter.

° Watch Video Solution



https://dl.doubtnut.com/l/_657pQHiRLvaK
https://dl.doubtnut.com/l/_ySailCrkOU5f
https://dl.doubtnut.com/l/_hReEp0qbki6m
https://dl.doubtnut.com/l/_vx4BmHKJK0y6
https://dl.doubtnut.com/l/_iMHVyc8yUzTM

12. If x=6 and y=5, then find the values of the following

A x+y
B. x-y
C.3x/2y

D. 3y/2x

Answer: (i) 11
(ii) 1

(iii)9/5
(iv)5/4

° Watch Video Solution

13. If x=1, y=2 and x=3, find the value of 4w2yz

° Watch Video Solution



https://dl.doubtnut.com/l/_iMHVyc8yUzTM
https://dl.doubtnut.com/l/_blse0ugEGekz
https://dl.doubtnut.com/l/_jrQPHETKCH8T

14. Write an algebraic expression that descibes the sum of x and 30% of z

subbstrated from the product of x and y.

° Watch Video Solution

15. Ajay buys 8 cookies consting Rs. Each. If the gives the shopkeepr Rs. 50,

how much change he gest back?

° Watch Video Solution

Crossword


https://dl.doubtnut.com/l/_eGPb0KKYCuQ8
https://dl.doubtnut.com/l/_c5SUBZsWX2fg

1.

(, Across, , , Down), (4., There are no terms in the polynomial except the t
(6., The expansion of the square of (z + y), , 2., This one is also called a 1
, 3., Two algebraic expressions are connected by the symbol=), (10., It is ¢

(11.,z + ¢ + © = 3z,3 1is,, 7., An algebraic expressin which has two or 1

o View Text Solution



https://dl.doubtnut.com/l/_a9cQTrdiQbC8

